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• 
1. Match the following List I with List II and choose the correct answer from the codes given 

below: 

List I List II 

(a) Temperature 1. Kilogram 

(b) Luminous intensity 2. Ampere 

(c) Electric current 3. Candela 

(d) Mass 4. Kelvin· 

(a) (b) (c) (d) 
(A) 3 4 1 2 
(B) 1 2 4 3 

·ltflll" 4 3 2 1 

(D) 2 1 4 3 

LJLlq.UJQJ I - ILLQr uL.iq.UJru II l'BLI Gurr®~"'· £aw ®i61Lii.SlL.@arar ®i61id@a;61llQi .@®.it.§! enlUJrrQT 
66]Q>L61lUJji; Cp;rr,it.Gp;@ : 

uL.iq.UJro I uL.iq.UJru II 

(a} QQJ Li ui@mQl 1. Bil aw rr .$l 17rrLil 

(b) simlaoG8'pS1QJ 2. ~Lili.SlUJrr 

(c) uSl6"raQTrrLLLil 3. Ca;ooLQlrr 

(d) i@Q)!!l 4. Qa;Qi66]6"r 

(a) (b) (c) (d) 

(A) 3 4 1 2 

(B) 1 2 4 3 

(C) 4 3 2 1 
(D) 2 1 4 3 

2. . Faraday's laws of electrolysis are related to 

(A) Atomic number of the cation 

(B) Atomic number of the anion 

,JJllf Equivalent weight of the electrolyte 

(D) Speed of the cation 

urrl){::L uSlmQTrrJi>u®Lici 66l~a;~Lm Gp;rrLrrcimLUJgjl 

(A) ap;rrullm ~UJ~i6lm ~~ ..-oo 

(B) ..-~n-ullm ~UJ~i6lm ~~ ..-oo 

(C) uSlQiu(§OOli6lm 8'lDITQT ... Q)L 

(D) <:p;rrullm ~UJ~i6lm aQJa;Lil 
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• 3. Parasitic plants obtain the required food through special roots called 

(A) Tentacles (B) Clinging roots y Haustoria (D) Saprophytes 

~L..@mGl!Oflp; p;rrrul)"li.J.$m fDtDiT.<!!Jp; GfD6IDaJuJITQT 12...-Qju QurrQ!iL.$li"ll~ 12...!DJ~al6.Q.$rrmm Gu!i>Jl)Jmm 
al!J)uLIITQT Gruir.$.rrlQi Gutuir gQ!QT? 

(A) 12...-ir.£L..al (B) LI!i>!!)!GaJir 

(C) jilll)rrGiuGLrriflturr (D) tDL<!!JmGl!Oflp; p;rrrul)"li.J.$m 

4. Consider the following statements and choose the correct answer 

(a) 

(b) 

Peroxisome and glyoxisome are microbodies. 

Peroxisome is present in the castor seed. 

Jiff' 
(C) 

(a) is correct (b) is wrong 

(a) and (b) are correct 

(B) 

(D) 

(b) is correct (a) is wrong 

(a) and (b) a~ wrong 

£w.$6ilirrL 8i>.W!!)J.$6IDQTif. .$aJ6ilflp;~ 1>iflturrQT 61516IDL6IDtup; ~irJi;GfD@MQjtb 

(a) Q u l)"IT if.i;nSJG1>rrtb tDW!!)l Lb .$lQJmtu rr6TIS1GB'rrtb 6ID1Dif.Gl)"rru rria.Giu gQTuu@tb. 

(b) Qul)"rrif.6TIS1GB'rrtb 41D-if.<!!J 6l5lp;~ru 12...mm~. 

(A) (a) 1>1fl (b) p;ru!!)l (B) (b) 1>1fl (a) p;ru!!)l 
(C) (a) tD!i>Jl)Jtb (b) @'l611irr@tb 1>1fl (D) (a) tDW(!)ltD (b) @'l611i!f@tb (DQJJl)J 

5. Consider the following statements and select your answer. 

Assertion (A) : Fermentation results in the production of ethanol and carbon dioxide. 

Reason (R) : It is an anaerobic process carried out by yeast cells. 

~ Both (A) and (R) are true and (R) is the correct explanation for (A) 

(B) Both (A) and (R) are true and (R) is not the correct explanation for (A) 

(C) Both (A) and (R) are false 

(D) (A) is true but (R) is false 

£w.$6ilirrL 8i>.WJl)J.$6IDQT .$aJ6ilflp;~ 1>iflturrQT 6l516IDL6IDtup; Gp;ir)i;Gp;@if..$: 

Bi>.WJlll (A) : Gp;rr~p;p;"51Qi Gurr~ ( gp;p;QTrrQi) ~QJ.$jilll)ITQJ ID!i>(!)ltb .$1TiruQim~if.mooL.. 
Qru.rrlt61Luu@tb . 

.$1TQ"-tb (R) : Gp;rr~p;p;Gii ~® .$1T!i>!DJQJrr a;QJITlftD. @~ fl'OOL Qa'Qi.$.rrlQi p;mLQuJl)J.$l!D~· 

(A) (A) tD!i>(!)ltb (R) @'l611irr@tb 1>1flturrQ!QlQJ, GtD§lltb (R), (A) 6l5l!i>.$1TQI 1>1flturrQT 6l5lmif.a;tDrr<!!Jtb 

(B) (A) tD!i>Jllltb (R) @'l611irr@tb 1>iflturrQ!QlQJ, GtD§lltb (R), (A) 6151!i>.$1TQI 1>1flturrQT 6l5Jmif.a;tDruQJ 

(C) (A) tD!i>Jl)Jtb (R) @'l611irr@tb p;ru!J)ITQ!QlQJ 

(D) (A) 1>iflturrQT~ 4QTrrQi (R) p;ru!J)ITQT~ 
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• 6. Dopamjne is a 

(A) Protein 

(B) Carbohydrate 

(C) Nutrient , Drug 

<:un.JLJQJLDQr gQiu~ VI® 

(A) 4rr15i.D 

(B) a;rri\aurrQljilll)LGl)"L.. 

(C) ~~t.JQLJIT(!!)Qr 

(D) <:urrQl15uQu 1T(!!j6ir 

7. Choose the incorrect pair regarding the Vedangas 

(a) Siksha Pronounciation 

(b) Kalp a Rituals 

(c) Vyakarna Astronomy 

(d) Nirukta Etymology 

(A) (a) (B) (b) 

Jllf (c) (D) (d) 

(a) . 6l1i;Q!jo1T IFLffiflHw 

(b) a;Qiurr IFLrfu@il6Qr 

(c) 6>511UIT16frQTIT QJITQllFITOO~l)"LD 

(d) ~@~IT QiFrrruQ\lroli;a;-QPLil QiFrrw'111ar rurrwrrl!)Jtb 

(A) (a) (B) (b) 

(C) (c) (D) (d) 
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• 8. The Dutch East India company setup their head quarters at 

I 9. 

(A) Goa gllf Nagapatnam 

(C) Bombay (D) Daman 

(A) Ca;rrQJrr 

(C) uiburriU 

(B) )lilTBiLIULJq.lilllib 

(D) LITlDQr 

Match List lwith List II correctly and select your answer using the codes given below : 

List I List II 

(a) First carnatic war. 1. 1764 

(b) Third carnatic war · 2. 1746-48 

(c) Battle of Plassey 3. 1758-63 

(d) "Battle of Buxar 4. 1757 

Codes: 

(a) (b) (c) (d) 

(A) 2 1 4 3 
(B) 4 1 2 3 

(C) 3. 4 2 1 

,2 3 4 1 

uL.1q.UJw 1-w a;rrainru6U!i>m1D uL.1q.UJw II - 1LL6ir Qurr®Ul. £19 Qa;rr@55uuL.@Q,.QT @i!DluS@a;Q,. . 

. 11...p;66111..1L6ir eillUJrrm 61SlmLmUJ;; ~rr61J QeiUa; 

uL.1q.UJw I uL.llj.UJW II 

(a) (!fl~ 5rrjlirrL5u C:urrrr 1. 1764 • 

(b) (!P6irfDrrib a;rTp;rrL5Li C:urrrr 2. 1746- 48 

(c) L.SlQTrr51u C:urrrr 3. 1758-63 

(d) u5wrrrr C:urrrr 4. . 1757 

(a) (b) (c) (d) 

(A) 2 1 4 3 
(B) 4 1 2 3 
(C) 3 4 2 1 
(D) 2 3 4 1 
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• 10. Under the 13th Finance Commission, the highest fund transfer was made to which state? 

(A) Andhra Pradesh 

~ Uttar Pradesh 

(A) ~i®rru tSll]Cp;.!Ft.D 

(C) m...H>rru tSl~t.D 

(B) Bihar 

(D) Tamil Nadu 

(B) iSa;rrrr 

(D) p;uSlliJ~rr@ 

11. In which sector, Masani Committee was set up? 

(A) l.Wlways 

(B) Sea Transport · 

(C) Air Transport 

Jll'f"·· Road Transport 

(A) @rruSlw<:ru 

(B) 5LW <:urr5(!!jrurr~ 

(C) rurrm <:urr5(!!jrurrp;~ 

(D) .!FITQlQ) <:urr5(!!jrurrp;~ 

, 

12. Which programme was started with the objective of reducing scarcity in rural areas by the 
construction of civil works· of permanent nature? 

(A) Small Farmers Development Agency 

Jiii/' Rural Works Programme 

(C) Integrated Rural Development Programme 

(D) Mahatma Gandhi National Rural Employment Guarantee Programme 

'"Jb!!iPi jl;1L..Lt.0, ifilQlQ)UJITQI a;L..@LOITQIU ual'la;oosr ll...(!!)QJIT5(!!jrup;m (!PQ>LD ilill)"ITLOU4Jl)ri.J5a!lw . 

uJi>JJ>rr5®"'Jl>"'UJ ®"'J1>5(!!jt.D <:~rr55lw ~ruri.Ja;uuL..~? 

(A) 611!)1 6>5lru1FrruSla;m @66r<:m!i>JJ> QP5'8lLO 

(B) £ll)"ITLOU41!J uafl jl;1LLLD 

(C) · ~®ri.Jilil"'-Jb!!i l!illl)"5 rusrrr661p; jl;)L..i....t.D 

(D) LOa;rrp;LDrr a;rr!f>jl;1 Gp;61UJ ililrrrrLDU4JI) GruQlQ) a;rru4!!)1jl;1 jl;1L..Lt.0 
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13. Who advocated tax on expenditure? 

(A) Bimaljalan 

~ N.Kalder 

(C) Kenneth Arrow 

(D) Paul Samuelson 

(A) iSJ LDITQJ!l!Q)ITQr 

(B) N. a;rrQ:>Lir 

(C) Qa;Q,.QJT~ ~C:l)'IT 

(D) urrQ:i B'IT@C:ruQ:iuar 

14. · Non intervention of the Govt. in production activities - the policy is called 

~ Laissez-Faire Policy 

(B) Macro Economic Policy 

(C) Monetary Policy 

(D) Govt. Policy 

L!i>u~ p;Lruiq.B;ma;a;QflQ:i &ilJlli uii.J® Qa;rr.tr.,,-rrLDru .@Q!jl6l§tb Qa;rrmma; 

(A) 15mQJ~Lrrl6 Qa;rrmma; 

(B) C:urrhuQ:i Qurr<!!lmrr15rr1J Qa;rrmma; 

(C) uSl8T6151UJru Qa;rr.trma; 

(D) &il)'616ir Qa;rr.trma; 

15. What was the main.theme of 2015 Republic Day Parade? 

(A) Green revolution 

~ Women empowerment 

( C) Clean India 

(D) Save fuel 

2015 Lb ~""1"@ (§lq.UJl)'lli f;QJT 66li.prr6196ir iSil)'15ITQJT i!i61lQJLILl UJIT~? 

(A) Ulli61lLD Lll)'L6l 

(B) Qu""1-a;6ir C:LDtburr@ 

(C) ~IOLDITQJT .@fe>f;UJrr 

(D) .,.rriQurrQ!l6ir C:1FuSluci 

SHB/GS/16 8 

• 



• 
16, · Who atnong the following is called as Grand Old Lady of Indian Nationalism? 

(A) Vijayalakshmi Pandit 

~ Annie Besant 

(B) Sarojini Naidu 

(D) Ambujammal 

£Gi,p Qa;rr@8;.$uuLLQJrra;QfJQi .@)i;i!5Ju.i GI06lu.i~p;lm ui,ptbQu®tb Quootn.ml 6Tm!J)roi,p8;a;uuL..L6l.JIT u.irrrr? 

(A) 61Sl!llu.iruU.LDI uooiq.L.. (B) "'a~rr~Qfl p;my@ 

(D) .!91 tD Ll!ll tDLD rrliir 

17. Who among the following first conceived the idea of the formation (/f Indian National Army? 

(A) Rash Behari Bose ifll!"Mohan Singh . 

(C) Subash Chandra Bose 

£1Pa;rroou6l.Jrr a;151iir "@)i;p;lu.i 

Gp;rr!Pl!)l6151~6l.Jrr u.irrrr? 

(A) ~rr~ Qu~rrT Gurr~ 
(C) s;urr~ d')i;~~ Gurr~ 

(D) Niranjan Singh Gill 

(B) Gtnrra;m 6lii.J 

(D) .ffil~(§"'m 6lrr.i .$lro 

18. . Who among the following wrote the book, "India Wins Freedom"? 

rlJI"' Maulana Abul Kalam Azad 

(B) Jawaharlal Nehru 

(C) Rajendra Prasad 

(D) Sardar Vallabhai Patel 

. £1Pa;rrooururra;15liir ".@)i;i!5Ju.irr 61Sl@p;rorumu.i QQJQi.$l!Di91" .,-tir!D Ll~i!i"'~rop; '"@~UJ6l.Jrr u.irrrr? 

(A) Gtni!TQJIT"1!rr .!911..jru a;rurrtb .!91d'IT~ 

(B) 1!16>.J ji1!D rrQJ rrru Gp;Qli 

(C) .@~ITG!ll)i;i$)~ i5l~d'rr~ 

(D) "'rrp;rrrr 6>.Jruruurru:i uGLro 

19. Which data communication method is used for sending data in both directions at the same 
time? 

(A) Super duplex 

(C) Half duplex 

.,-p;p; 1!556>.JQJ QIOITLITL.j QPQl!J)~QJ p;~61Slro"1! via~ ap;~~p;lru .@® Ll!DQlltD .!91®JU'51L .@u.i§!Jtb? 

(A) .!91p;lp; .@®~ro"' (B) VJ®i$lro"' 

(C) urrp;l .@(19p;l61ld' (D) Qll@ .@®~rod' 
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20. Which city is not included in the building of smart cities signed by USTAD? 

(A) Vishakapatnam 

6Jlf Almora 

(C) Ajmer. 

(D) Allahabad 

(A) 6l5ilfrrlliu uLLallrl.O 

(B) ~ruC:tnrri)"rr 

(C) ~eiilln- • 
(D) ~QlllilTLJITp; 

21. Which sector got the highest allocation in the Twelfth Five-Year Plan? 

(A) Energy 

gJI/" Social 

(C) Transport 

(D) Communication 

12-QJ~ tBJi;p;rrm@p; fjL.t...#Jru rorp-,p;;, ~mlP5<!5 ~fjlli Qp;rrmlli 51~5aiu_ul...~? 

(A) rori!l.!Ri;fj ~mjl) 

(B) lfe!Jl5i> ~Qljl) 

(C) - C:urrli;@iQJl)"~p; ~Qljl) 

(D) Qp;rrmQlQp;rrLIT4p; ~Qljl) 

22. Which missile has a range of over 6000 kms. in India? 

(A) Prithvi - V 

(B) Akash - IV 

~ ICBMAgni-V 

(D) ICBM Agni - VI 

.@P-,fjUJrr661ru 5000 51.ill QIKl>§lll.O IJ1P6in Q5rrmL G;J"Qjlli6llQBT ror~? 

(A) i.Sli!lp;661- V • 

(B) ~rr~-IV 

(C) ICBM - ~li;Q\l _:_ V 

(D) ICBM - ~li;a\l - VI 

SHB/GS/16 10 
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• 23. India joins the Big:5 preserving the ICBM Big-5 includes the US, Russia, China, ---­
and----

24. 

(A) Australia, France 

(B) Australia, UK 
, 

(C) France, Poland 

Jiiilf' France, UK 

ICBM u9mm ~maJM!.$ Qa;rr4iilr@ @ji;itJ1Urr 'Qu®lh-5' Gr~Cj6rr@ @mQlf&llI>i!·''Qu®lh-5' Grmuil 
14.GrQu, l)"~IUIT, Q)6QTIT, tnJi>l!)llh p;rr@5Qlar@iJ61.$@ilh 

(A) 4witJC1Tro11Urr, :.tSll)"ITQrQu 

(B) 4witJCry'611UIT, (14.Cao.) !!l.$.$l1U Cul)"l)"8' 

(C) .".tSll)"rrmw, Currrurrp;~ 

(D) .".tSll)"ITQrQu, (14.Ca>.) !!l.$511U CUl)"l)"8' 

Where was the 18th SAARC Summit held? 

(A) Bhutan 

(C) Srilanka 

18-aJii B'rrir.$ 11!...Sfil LDrrp;rr@p;mLQuJi>JD @Llh 

(A) \,l,LITQr 

(C) · ~ruiila;rr 

:,t'N~pal 
(D) Maldives 

(B) Cp;urrarlh 

(D} LDITQ)UQj 

25. Consider the following statements. Pick out the correct statement 

I. Sardar Sarovar Narmada Nigam project to create solar energy from the solar panals 
along the river canals. of Narmadha. 

II. Deendayal Upadhyaya Gram Jyoti Yojana to provide access of electricity to rural 
households across the country. 

(A) I only (B) II only 

~ Both are correct (D) Both are wrong 

£wa.4iilrL Bi>.Ji>mJD a.aJ'8flMJ 8'ifi1Urrm 6"6lmLmlU C15irji;Q15@ 

I. B'ir15rrir B'Cl)"rraJir p;irtn15rr i£laorrlh itJL..Llh p;irtn15rr 4Ji>p5lm a;rrroaJrru9m CtnJi>u11utSlru ~i!llU 

UQ)Ql55Q)QT ~mtnp;~ uSlmB'ITl)"lh 151Urri!l.$(!!ilh itJLLLDIT(!!ilh. 

II. ~Ql!lilUITQr 11!...U!lilTIUIT .$ll)"ITlJ) C!Ji!rri® CIUIT!)i!QllT jlilTLlij.§lJSTQT GfQJQ)IT l!illl)"5 ro@aomlru uSlm8'1Tl)"lh 

ruwiii®aJ!!iJi>aorr{!!jlh. 

(A) I LDL@lh 

(C) @1T4iilr@Ctn B'ifi 

11 

(B) II LDL@lh 

(D) @1T4iilr@ClJ) !liQJl!)I 
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26. Insert the missing number 

2, 6, 12, 20, 30, 42, 56, -----

(A) 62 

(C) 64 

i.SlQ!QJ@LD oroairra;Q\lQ) 6l5l@uLL lifQorQlQIT a;rroairra; 

2,6, 12, 20,30,42,56,--~--~ 

(A) 62 

(C) 64 

rjlf' 72 

(D) 68 

(B) 72 

(D) 68 

• 

27. A train 150 metres long passes a telegraph post in 12 seconds. Find the speed of the train 

(A) 15 km/hr (B) 30km/hr 

~45km/hr (D) 60km/hr 

150 ~LLrr ,1$'1T(!JlQrQT lj61l5QJQorll\- Vl® lf>JiilfJ5 a;t.Ouii;m11> 12 6l51QJTrrll\-a;.,ftQi 5LJiilf>ITW .91)iilf> 

ljQl5QJ~ll\-uS]Qi C:aJ5ii;61llf>5 ,$1TQor5 

(A) 15 ~.~/LDaafl (B) 30 ,jij.~/LDaafl 

(C) 45 ~.~/LDaafl (D) 60 ~.~/LDaafl 

28. A and B together can complete a work in 15 days. B alone can complete the same work in 
45 days .. Then 

~ A is twice as good workman as B 

(B) B is twice as good workman as A . 

(C) A is thrice as good workman as B 

(D) B is thrice as good workman as A 

A LDJD!!)lt.D B <:ifrr)ii~ Vl® C:aJmQJmlU 15 p;rrL5..ilQi G6i.U~ <!Jl"l-Liurr. @C:lf> C:aJmQJmlU lf>Qflturra; B, 

45 p;rrL..a;..ilQi G6i.U~ <!Jlll\-Liurrrr orQflQi 

(A) B mlU 6l51L A@® LDLri.i@i p;wQJ C:aJmQJ55rr17rr 

(B) A QllLJ 6l51L B .@® LDLri.J@i p;Q)QJ C:aJmQJ8;a;rr17fr 

(C) B Q)ILJ 6l51L A <!JlLDLDLri.i@i p;wQJ C:6UmQJ55rr17rr 

(D) A mlU 6l51L B <!JlLDLDLri.i@i p;wQJ C:aJmQJ5a;rrgrr 
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• 29. A, Band C can complete a piece of work in 24, 6 and 12 days respectively; working together 

30. 

they will complete the same work in · 

,~ 3 2 r 37 days (B) 47 days 

(C) (D) 1 
12- days 

4 

'4., B LDfbllJILl> c j)QJrrm ti'® @J61Li1.Sh:..L C:QJQ)Q)Q)UJ C!P~5 Qa;rrmm or~5 Qa;rrm~ BilTQl 
dPjQTQ)QJa;m (!P61lJD61lUJ 24. s. 12 Jlirrmm. {jlQJrra;m (!l>QJ®Li:> <:6rrJhl!ll ti'® <:aimQlmUJ (!Piq.55 a;rrQl .!Plmai 

(A) 33 •• - JlilTL5QT 
7 

(C) 10 3 • • 7 JlilTL5QT 

In how many years will 
compo\!nded annually? 

'1Jlf" 3 years 
(C) 4 years 

(B) 4 2 .•• 7 JlilTL5QT 

(D) 12 1 • • - JlilTL5'1T 
4 

a sum of Rs. 1,000 becomes Rs. 1,331 at 10% per annum 

(B) 2 years 

(D) 5 years 

6TH61lQll ... @a;Qf!Qi, (!!i. 1,000 .!ti>Qllj!jl 4•11\-!i>@i 10% QJLll\- GSp;Li:> Bi>.L@ QJLll\- 5QllT.Ml@Li:> CUITj!jl 
(!!i· 1,3314@Ll>? . 

(A) 34ailr@a;ar 
(C) 44fiilr@a;m 

(B) 24fiilr@a;Qr 
(D) s 4 •@a;ar 

31. If the difference between simple interest and compound interest on a certain sum for 
3 years at 10% per annum is Rs. 31, find the sum 

(A) Rs. 3,000 (B) Rs. 3,100 

~ Rs. 1,000 (D) Rs. 2,000 

t;i® Qp;rrma;mUJ .!tbliilr@5@ 10 6'61Qg5Birr@ 6S~Q, 3 .!tbliilr@5@ lil.JL~@i 6'6l@Li:>C:urrl!il 81>.L@QJLll\­
LDfbllJILl> p;611!lQJLll\-£ilQJjbJ6lfb5lmLC:UJUJITQll 6'61p;~UJITIRil (!!i. 31 or611!19> .!Plp;Qp;rr61l561lUJ5 a;rrliilra; 

(A) \!!i· 3,000 (B) \!!i· 3,100 

(C) \!!i· 1,000 (D) \!!i· 2;000 

32. Find the value of V-67-V-25+~ 

LD~uy5 a;rrliilra;: V.-67-V-25 + ~ 
(A) --4 

(C) 3 

13 

(B) 4 

(D) .-3 

(B) 4 

(D) . -3 
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• 33. H.C.F. of 513 and 1134 is 

(A) 9 (B) 81 

;,I' 27 (D) 31 

513 LD!iJ!PJtb 1134-Qi L.5uGu(!!j Gurr~ a;rr17~ 

(A) 9 (B) 81 

(C) 27 (D) 31 

34. Ten years ago, the ages of X and Y were in the ratio 3 : 1. The ratio of their present ages is 

2 : 1. Their present ages are 

/ 40,20 (B) 20, 10 

(C) 30, 15 (D) 60, 30 

u~rrm(j)la;15B;@) QPQiQTfr X, Y ~CUJrrfilQi QJUJ~ 6'15lililp;tb 3 : 1. ~QJfra;QflQi p;!iJC:urrQlp;UJ QJUJ~ 

6'15lililp;tb 2: 1. ~QJfra;QflQi p;!iJC:urrQlp;UJ QJUJ~. aJ(!!lLri.ia;GITlru 

(A) 40,20 

(C) 30, 15 

(B) 20, 10 

(D) 60, 30 

35. Three partners A,B,C invest Rs. 36,000, Rs. 45,000 and Rs. 54,000 respectively in a 

business. Out of a total profit of Rs. 37,500 C's share is 

(A) Rs. 12,500 

(C) Rs. 10,000 

"'Rs. 15,000 

(D) Rs. 15,500 

A,B,C ~UJ C1:PaJfr Liri.i@)j!ilTl)"ITa;61Trra; LW61T Vl® 615lUJrrurr17!i;~ru ~QJ{ra;Qi- (!JlQlJDC:UJ i!!i· 36,000, 

l!!i· 45,000 LD!iJl!Jltb l!!i· 54,000 6fQrJDQJITl!JI QJlp;'6@ QB'liJ~ar61TQTfr. GLDrr!i;p; .@Qlrrutb l!!i· 37 ,500-ru C -Qi 

Uri.J@) 

(A) i!!i· 12.500 

(C) l!!i· 10,000 
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• 36. Find the odd n:ian out 

4, 9, 19, 39, 79, 149, 319 

(A) 319. 

(C) · 79 

4,9, 19,39, 79, 149,319 

(A) 319 

(C) 79 

l!f'149 

(D) 39 

(B) 149 

(D) 39 

37. How many cubes of 10 cm edge can be put in a cubical box of 1 m edge? 

(A) 200 

(C} 10 

(A) 200 

(C) 10 

'1f'1000 

(D) 100 

(B) 1000 

(D) 100 

38. How many cubes of 3 cm edge can be cut out of a cuboid of 3 cm x 18 cm x 108 cm? 

"""216 

(C) 36 

(A) 216 

(C) 36 

15 

(B) 326 

(D) 45 

(B) 326 

(D) 45 
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• 39. Match the following and choose the correct option 

List I List II 

(a) G.V. Mavlankar 1. First CAG of India 

(b) SukumarSen 2. First Deputy P.M. of India 

(c) V. Narahari Rao 3. First Chief Ele_ction Commissioner of India 

(d) Sardar Vallabhai Patel 4. First Speaker of India 

(a) (b) (c) (d) 

(A) 4 1 2 3 

(B) ;> 1 4 2 

3 1 2 

3 2 1 

· uL.iq.UJru I uL.iq.UJru II 

(a) G.V. LDITQJQ)if.ia;ir 1. .@~UJrm'il6&r ~ ~LD ~8;aia; LDtiJ!l)JLh a;~uum'..Lrr'1Tir 

(b) &@jlDITir Q6Qr 2. .@Jb~UJIT61516&r (!pffoU ~Ql- ISll)'piLDir 

(c) V. pil)'jilll)ifl l)'IT6iJ 3. .@Jf>~UJrr61516&r QPffoU p;a>rua>LD Gp;irp;ru 4a>-UJir 

(d) 6irp;rrir QJQiruurru'.J uC:Lru 4. .@Jf>~UJrr61516&r QPp;ru 1Furrp;rrUJa;ir 

(a) (b) (c) (d) 

(A) 4 1 2 3 

(B) 3 1 4 2 

(C) 4 3 1 2 

(D) 4 3 2 1 

40. The anti-defection law was passed in 1985 and was incorporated into the Constitution as 

(A) Schedule VIII 

Jlllf Schedule X 

(B) Schedule IX 

(D) Schedule XI 

1985-ru .@UJWJDUULL a;L.il p;rrQJQi p;a>L . 6LLLD, .@Jf>~UJ &il)'61UJrua>LDuiS16&r 

&ILLQJa>ami5iru ~ir HU uL.@6irar~. 

(A) &iLLQJQl- VIII (B) &iLLQJa>- IX 

(C) &tLLQJa>- X (D) &ILLQJQ)- XI 
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• 41. Which two committees have been set up to enable the financial business of the Parliament? 

(a) The business advisory Committee 

(b) The estimates committee 

(c) Select Committee 

(d) The Public Accounts Committee 

(A) (a). and (b) (B) (b) and (c) 

,,- (b) and (d) (D) (c) and (d) 

(a) QJirp;ff>s; .!il>C:Qlrr6QlQT @i@ 

(b) LD~uu@s;m@i@ 

(c) Qff>illQj5 @i@ 

(d) Qu_rr191 s;Em5(!lj5 @i@ 

(A) (a) LDJD!!lit.b (b) (B) (b) LDJD!!lit.b (c) 

(C) (b) LDJDgllt.b (d) (D) (c) LDJDgllt.b (d) 

42. In the legislative procedure, if the cut motion aims to reduce the demand by one rupee only 
the motion will be known as 

(A) Economy cut 

(B) Token cut 

Jlill' Disapproval of Policy cut 

(D) Minimum cut 

17 SHB/GS/16 
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• 43. Under which case the Supreme Court of India held that the preamble is the part of the. 
constitution? · 

(A) 

gJJf' 
(C) 

(D) 

Golaknath Case ' 
Kesavananda Bharati Case 

Minerva Mill Case 

Subbarao Case 

GT)i;)2i 6UIPaJilru, j~pj}lU fLiHf UJLDQn!l)LD, (!plbQjQll)" GTQnU~ @Ji;pj}.lU .!>!1)"6llUru lflTlfQIT~pjlm Vl® LI@jpj} 15rrm 

GTQn(OJ ~in.JL.j 6U\Pffi1.$11U~? 

(A) Gs;rrruBip;rr~ 6UIP8i® 

(B) G8ilf6Up;Ji;15rr urrvpjl 6UIP8i® 

(C) LhlQITir&Jrr Lhlru &J1PBi® 

(D) 8'UUITl)"ITQJ QJ\P8;@i 

44. Ainong the followings, which is one of the richest coastal regions of Asia? 

45. 

fll/' Gulf of mannar (B) Sundarbans 

(C) Pitchavaram (D) Chilka lake 

(A) LDQTQITITir QJQlQT@iLIT 

(C) t.Slulfrr&Jl)"Lb 

The Term "Wildlife" was Coined by 

(A) Vernandsky 

(B) Willium Hendry 

fjllf' Willium Hornady 

(D) KarlMobius 

(B) a<Ji;151J"&J6Wr.$ s;rr@s;6ir 

(D) 6lrus;rr 6lifl 

u15Lb "Wildlife" gQirum15 1Urrir (!p)2j'6lru @mGLDrri:91Ji;15rrir? 

(A) QQJrrQITrrQiro;iu.$1 

(B) 66lru'611Uc0 Qjilfl)Qird)l 

(C) 66lru'611ULD ~rrir6WrrrGL 

(D) s;rrirru GLDrr.°.t.Slo;iu 
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• 46. Match the following : 

Tiger Reserves in India 

(a) Bhadra 1. Madhya Pradesh 

(b) Gir 2. Mizoram 

(c) ·Kanha 3. Karnataka 

(d) Dampha 4. Gujarat 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 4 3 1 2 

ll'f' 3 4 1 2 

(D) 3 4 2 1 

Qurr(llj~~a;: 

@)6~ lLJ rrG61 Qi Ll rol.$ . a; rru u a; Lb 

(a) U~l)"IT 1. LD~~lLJ tSll)"C:j66tb 

(b) .$)fr 2. uSlC:B'ITl)"tD 

(c) a;Qia;rr 3. !EIT)!ilTL!EIT 

(d) LITtDUIT 4. @i~l)"rrp; 

(a) (b) (c) (d) 

(A) 1 2 3 4 
(B) 4 3 1 2 
(C) 3 4 1 2 

(D) 3 4 2 1 

47. Which one of the following is not correctly matched? 

(A) Galena Lead 

(B) Bauxite Aluminium 

(C) · Magnesite 

~ Corundum 

(A) a;romrr 

(B) urr.$6'lool... 

( C) C:tn.$m6'l6l... 

(D) C:a;rrl)"~lLtD 

Magnesium Carbonate 

Mercuric Sulphide 

a;rrrrlLI Lb 

~~ uSlQ\llLJtb 

QLD.$~Ulll.Jtb a;rrfruC:mL. 

19 
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• 48. If the earth stops rotating, the value of g at the equator 

JtJlf' increases (B) decreases . . 

(C) remains constant (D) becomes zero 

461il "'IPQiQJ~ J£16irlJ)l6'1ilL..wr.V. i£1Q) 15@5Ca;m.:.@u u~iD!ai g - @6ir w~u4 

(A) .!P1~5LDIT®W (B) ®G11jJ)14ih 

(C) LDrrjJ)rrLDml~U> (D) ~1Urr.i61il@U> 

49. Identify the Incorrect pair 
I. Length Scalar 
II. Velocity Vector 
Ill. Weight ..,. Scalar 
IV. Momentum ..:. Vector 

(A) I (B) II 
JJ1f III (D) IV 

j&QljJ)lral C:~1f11t.Gll1U 5sBrLpSl5 

I. .£arU> auC5QlrriT 

II. ~Q)/fCQJ5Ul QQJ.i;Lrrlf 

III. 5rGllL Ql)Qa;QJrrlf 

IV. 11...ji;p;U> QQJ.i;Lrrlf 

(A) I (B) II 

""""' 
III (D) IV 

60. . The principle of gravitational lenses is 

(A) reflection of light 

(B) refraction of light 

(C) polarisation of light 

~ bending of light around masses 

FFITu4 61il.VmQJ5afl6ir ~QJU> 

(A) ~afl 1;r~Qr;rrraflu4 

(B) ~ 61ilQJ5QJ 

(C) ~afl p;ar61ilmarQJ 

(D) J£1GlljJ)5QlQT s;JilpSl ~afl QJGllQTp;Q) 
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• 51. The acid strength of halogen acids is one of the following order 

(A) HCl > HBr >HF> HI JJ1f' HI> HBr > HCl > HF 

(C) HI> HF> HBr > HCl (D) HCl > HI> HF.> HBr 

(A) HCl>HBr>HF>HI 

(C) HI > HF > HBr > HCl 

52. The health is affected by the 

1. Genetic disorders only 

2. Deficiency of vitamins and minerals 

3. Infections only 

4. Life style of an individual 

(A) 1, 2, 3 only 

(C) 3, 4 only 

1. U>1Ti511Uru Ca;rr'1Trrl!)Ja>m 

2. mh: .. Lt.616ir U>JDl!)Jt.b t.61611!)"QJ5Qr ®a>JDLIIT(jj\ 

3. Qii;rrJilpa;m wL..@t.b 

4. ~(!96U(!!jQ>LIU 6Urrl9Bima; (!Jla>JD5m 

(A) 1, 2; 3 wL..@t.b 

(C) 3, 4 U>t.'...@t.b 

(B) HI> HBr> HCl >HF 

(D) HCl > HI > HF> HBr 

(B) 2, 3, 4 only 

; 1, 2, 3 and 4 correct 

(B) 2, 3, 4 U>t.'...@t.b 

(D) 1, 2, 3, 4 1ftfl1U1T611j§I 

53. Which one of the following is not an halide ore? 

(A) Rock salt 

Jlilf'. Cryolite 

(A) 1Lu4.$a;Qi 

(C) .$1mi)(:1Urra>QlL 

21 

(B) Horn silver 

(D) Barytes 

(B) ~rrrrm blru6lJrr · 

(D) · urra>!)"LW 

.. 
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54. The RNA which carries the genetic message from nucleus to the ribosome is 

(A) hnmRNA 

Jiff' mRNA 

(C) tRNA. 

(D) rRNA 

• 

• 

LL.s;®6\S1Qi @®Ji>191 ml]GurrC1Frnbs;~8;® ,:os;QJQis;mGTT ~@~191 GS'Qi~tb ml]Gurr )tliy,8;'"18; &it.61Qlri.Js;6ir 

(4ir.~Qi.<0J) jmaJ 

55. Who discovered Rh blood group? 

(A) Davenport 

(C) Hutchison 

(C) jilll)L.INr 

56. Hormone oxytocin is secreted by the 

(A) Thyroid gland 

Jllf Pituitary gland 

SHB/GS/16 
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(B) Gregor Mendal 

~Landsteiner and Wiener 

(B) Adrenal gland 

(D) Parathyroid gland 

(D) urrvrrm,:ovrrtiJ@ &vutSl 
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• 57. Kanthaka was the name of 

I. Buddha's Charioteer 

. II. Buddha's Horse 

III. 

IV. 

A sage who taught Buddha about Meditation 

One of the favourite disciple of Buddha 

(A) I 

(C) III 

I. LJp;p;rrlQi Gp;C~rrL"f­

II. LJp;p;rrlQi ®~m~ 

"'II 
(D) IV 

III. '-lp;p;®.$@i ~UJITQTLD G6u'.Jw a;Ji>!lll Qa;rr@p;p; l@irr61fl 

IV. LJp;p;nlQi t51iflw1DITQT ill® ILfr · 

(A) I 

(C) III 
Jlllf'II 
(D) IV 

58. Which Deccan King had the title of "Abla baba" or "Friend of the poor"? 

(A) Quli Qutb Shah ~Ibrahim Adil Shah II 

(C) Nizam Shah 

(A) @i"5l @i~LI Q!j>IT 

. (C) mp;6rrLD Q!j>IT 

(D) Ali Adil Shah 

(B) ju~rr~Ll> ~ ... Qi Q!j>rr II 

(D) ~rol ~ ... Qi ~rr 

59. The textile dealers ofTamilnadu were known as 

(A) Vanigar 

~ Aruvai Vanigar 

(B) Umanar 

(D) Yavanas 

p;uSlwa;p;mp;,; CIFirJi;p; ~Q!Dfl QJQ!Dfla;ira;Gir----6TQTuuL.LQTir. 

(A) ruQ!Dfla;ir (B) ILIDQll!Tir 

(D) UJQJQ!rra;w 
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60. The "Queen of Arabian Sea Port" is 

61. 

(A) Kand.la 

(B) Mumbai 

Jill" Koehl 
(D) Marma Gcia 

.. ~11a.Sl.taL'°16&! 11rrQllfl)i; §jl61l!DQP.$LD" 6TQTUU@6U§jl 

(A) a;<lZTL..Qlrr 

(B) QPLD61lU 

(C) Qa;rr66l 

(D) LDirtnC:a;rrrurr · 

Which is wrongly matched? 

(a) Ramakrishna Mission 
(b) Brahmo Samaj 
(c) Arya Samaj 
(d). Theosophical society 

(A) (a) ,,. (c) 

156U!DITQT GUIT(!!)~ID a;<lZT@a.Sli<f.A;aiQJLi:> : 

(a) l)"ITLD.$l(!!)'"t--rr uSl"'!'Qi 
(b) a.Sil)"LDLD 8'LDIT!);!LD 

(c) ~rrhu 8'LD rr!l<! Li:> 

(d) a.Si l)"LDLDl@jlTQT 8'61lU 

(A) (a) 

(C) (c) 

Swami Vivekanand 
Rajaram Mohan Roy 
Keshav Chandra Sen 
Annie Besant 

(B) (b) 

(D) (d) 

&6>.JITuSl 61Sl(:QJa;1TQTji;15fr 

l)"IT!);!ITl)"ITLD C:tnrra;Qi l)"ITuJ 

(]a;6'ii.J 6)i;i$Ji)"Q66&! 

~QiQ\lQu66&JL.. 

(B) (b) 

(D) (d) 

62. The scheduled banks are those which are entered in the 

(A) First Schedule of RBI Act 1934 
, Second Schedule of RBI Act 1934 

(C) Third Schedule of RBI Act 1934 

(D) Fourth Schedule of RBI Act 1934 

~L..L6Um-u9ru ~lr.ta;uuL..L 6Uri.i.$la;ar 6T)i;IO ~L..L6Um-u9ru .@Lib GuJi>!!)l6irm191 

(A) QPioQi ~LLQJ61l-, ,@)i;i$JIU iflB'irru 6Uri.J.$l B'LLLD, 1934 

(B) .@'T<lZTLITLD ~LL6U61l-, ,@)i;i$JIU iflB'rrru ruri.J&l 8'LLLD, 1934 

(C) (!PQJ!DITLD ~LLQJQ)-. ,@)i;i$JIU iflB'rrru 6Uri.J.$16L..Lib, 1934 

(D) /lilTQJ.$1TLD ~LLQJQ)-. ,@,!i;i$JIU iflB'rrru 6Uri.J&l 8'LLLD, 1934 
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• 63. MatCh the following states with .their Child Sex Ratio as per census 2011 

States Child Sex Ratio 

(a) Kerala 1. 946 

(b) Haryaii.a 2. 899 

(c) Tamil Nadu 3. 959 

(d) Uttar Pradesh 4. 830 

(a) 

(A) 1 

(B) 1 

(C) 3 ,,,3 
(b) 

3 
2 

2 

4 

(c) 

4 

3 
1 

1 

(d) 

2 

4 

4 

2 

£ij!.$5rrf;llih LDrr.ffilQld.i1&61l61T ~QJtiJ!J5li;&r @ib9)i;61l~ urr'6lm 615liElj!iii;~u1! (2011 LDMGiir Gj!i1T61l1&LIUl<f.) 

Gurr@i!;~a; . 

LDIT.ffilQ)Ul @ib9)i;61lj!i urr'6lm 6151.ilj!iih 

(a) C!&irmrr 1. 946 

(b) ji!1D ift lU ITQJIT 2. 899 . 

(c) j!it.61 bi!Jli rr@ 3. 959 

(d) rLii;j!ilT iS1 ,,Cj!i6Ul 4. 830 

(a) (b) (c) (d) 

(A) 1 3 4 2 
(B) 1 ·2 3 4 

(C) 3 2 1 4 

(D) 3 4 1 2 

64. In the system of currency notes, which system is followed in India? 

(A) Proportional reserve system · 

. .llf!/f' Minimum reserve system 

(C) Maximum reserve system 

(D) Fixed reserve system 

u SlfT C:Jli rrL.@a;.tr QJ b9d.i@ij!i'6l©, @,Iii~ 1U rr6151 Qi 6r)i;j!i (!P61l JD iS1 Qiu ti> JD Li u@iEI JD~ ? 

(A) 615liElj!ilTB'ITIT a;rrul.j (!P61lJD 

(B) @)61lJD)i;j!iuLB' l&ITLIL.j (!P61lJD 

(C) ~~a;i.JLB' a;rruLJ (!P61lJD 

(D) .ffil61>QllUIT611 l&ITLIL.j (!P61lJD 

25 SHB/GS/16 
[Turn over 



65. 

66 . •. 

Match the following National Leaders with their Journals : 

Leaders Journals 

(a) Gopala Krishna Gokhale 1. · Young India , 
(b) Surendranath Banerjee 2. The Maratha 

(c) Bala Gangadhar Tilak 3. The Bangalee 

(d) Lala Lajpat Rai 4. Sarvajanik Sabha 

. (a) (b) (c) (d) 

~4 3 2 1 
(B) 1 2 3 4 
(C) 2 3 1 4 

(D) 4 2 1 3 

j6QlQJQJrT a;Qr uUJi!!BiaJa;a;Ql" 

(a) <::a;rrurrQJtlC!!)~Q!IT <::a;rra;GQJ 1. UJii.l@Ji;~UJrr 

(b) ~llJi;~ll)lirT~ Gumrr~ 2. ~ LDllrrHrr 

(c) urrQJa;li.Ja;rrp;IJ" ~QJBirT 3. ~ Quii.Ja;rraSl 

(d) QJITQJIT Ql!ilU~ l)"ITuJ 4. 8'rTQJ!JilQflSi B'UIT 

(a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 1 2 3 4 

(C) 2 3 1 4 

(D) 4 2 1 3 

What is special about the following personalities? 

V.D. Savarkar, Hardayal and Madan Lal Dhingra 

(A) 

""" (C) 
(D) 

Congress members 

Members of the India House 

Participated in Khilafat Movement 

Social Reformists 

£wBiBimL 51JDJi;l6 tndlp;rra;aflaJLGUJ BilTQ!ITUU@tb 51JDULJ .,!llLDB'LD ..-mm? 

V.D. B'Qlrrrra;rr, jillDrrp;UJrrm tniiJ!!)ltb tnp;mQlrrru ~ii.Jl)"rr 

(A) a;rrii.ltll)"6iu IL!!)ILiLSlmrra;m 

(B) @Ji;~UJrr jillDQJ516&r IL!!)ILiLSlmrra;6ir 

(C) 51Qlrru~ @UJBia;UJru uii.I® QuiiJJDaJrra;m 

(D) B'(!Pj61TUJ 61f~C!!)li;j6QJIT~Bi6ir 
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• 67. A is a client program that acts as an interface between user and world wide web. 

~ Web browser (B) HTML 

(C) URL (D) OS 

(A) @@Qli!TIU ILQJIT6lSJ 

(C) 14.~rr.61"ru (URL) 

(B) 61"6.iq..6rtii.61"ru (HTML) 

(D) \j}.61"Giu. (OS) 

• 

68. Who was the Indian environment activist to be honoured with Goldman Environmental 
Prize? 

~ Ramesh Agrawal (B) K.C. Uday Singh 

(C) Veer Ragavan Dubey (D) Gokul Bhatia 

s;Jill!)JLIL.j!DUJ!iJ8;s;rrQ>f )ljrfus;LDQ\'l)liQr uiflrolf QGJ6isrJD@~~IU s;Jil!!JUL.jJD ~QJQJrr IUITrr? 

(A) l)"CLD~ ..!1fB;l)"QJITQJ (B) Gs;. 61. IL)liuJ 6lrt.J 

(C) 6111J 1Jrra;wQi ~au 

69. Sending a legitimate looking email, hoping to gather personal and financial information 
from the recipient of the email is called as 

(A) Virus (B) Worm 

,,- Phishing (D) Pharming 

5l®GJ®8;@i lflT)lilTIJQlllTLDITa; ..!11gl!LIUUU@tb uSlQiQ>rl@>lfQi Gurrru t.616isr""l@>6Qi ..!1fgl!Ut.Sl ..!1fGJ(!!iQlLIU 

)liQflLiuC..L, .ffil~ lftDU~)lilDITQ>f )ljB;QJQJB;QlQT 6r@M QP1UJil6luu~ ~Lb. * 

(A) roaJl)"Giu (Virus) (B) QGJrrtb (Worm) 

(C) .".t.Sl~rt.J (Phishing) (D) .".urrrrt.6lrfu (Pharming) 

70. Which state launches e-Raksha centre? 

(A) Haryana Jl'!f' Gujarat 

(C) Maharashtra (D) Uttarkhand 

(A) jil!DITllUITQ>flT (B) @i!!<llJIT~ 

(C) LDB;ITl)"IT~lq-IJLD (D) ILHIJB;fT~L 
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• 71. Which two countries recently restored their ties after 50 years? 

Jllf' United StaU:s Cuba 

(B) United States - . North Korea 

(C) Cuba Russia 

(D) Russia South Korea 

Qii;rrmL611? 

(A) ~QLDiflMIT &liy,urr 

(B) ~QLDifl551T QJLQ51TifllUIT 

(C) &liy,urr l)'~IUIT 

(D) l)'~IUIT Q15QrQ5rrifl1UIT 

72. 13th NATO Secretary- General, Mr. Jens Stoltenberg belongs to 

(A) New Zealand· 

(B) Japan 

~Norway 

(D) Brazil 

Gj!iL..GLrr [NAT0]66lar 13-Ql~ QMl)'LLifl QfQ6111)'QJ fjC!!J. Qf1!6irSu auGLrroiJLQrQurr5 ~/b16 jlilTLinl-8' 

G6!Tft;j6QlrT? 

(A) . i£liy,61Qlrrft;~ 

(B) !ljLILIITQr 

(C) llirrrfGQJ 
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• 
73. In which district of Tamil Nadu, the Central Government is decided to .set up the Neutrino 

observatory? 

(A) The Nilgiris 

(C) Perambalur 

1"'Theni 
(D) Namakkal 

.ffiliy.L...ifl<:mrr ~tUQJIEPimi!i. LDPi~IU ~\[IE i!iuSlW)lilTL"f-m 6rJBi!i LDITQJLLPi~Gb ~mLDiiilE (!P"f-Qj 

G 8'li.J@J 6irm@I ? 

(A) .£ru.$l ifl 

(C) Gu\ftbu~ir 

74. New approach to conservation is the establishment of 

(A) Sanctuaries Jlllf" Biosphere Reserves 

(C) National Parks (D) Reserve Forests 

(A). 8'\fEllOTITQl1Uit.J1E6ir 

. (C) C:~IU !,j,it.l1Erriii1E6ir 

(B) OLuSlirii; C:1E1T6!Tit.J1E6ir 

(D) .,;rrLit.iiii .,;rr@1E6ir 

75. Which is the tribe. not belong to Nilgiris District? 

(A) Todas 

(C) · Kurumbas 

(A) ~ITLirlE6ir 

(C) <§®tbuir1E6ir 

(B) Paliyar 

~Muduras 

(B) u'1fl1Uir1E6ir 

(D) (!P@IQJirlE6ir 

76. The income in 3 months of a person is same as his expenditure in 4 months. If his annual 

saving is ~ 600. What is his monthly income? 

"""" f 200 
(C) t 300 

(B) '21'\0 

(D) f 600 

VI® LDQfli!iiflm ('.l:Pm!llJ LDrrp; QJ®LDrrQJTtb ~QJiflm )lilT6isr@i LDrri!i GB'QlQjiii@i B'LDtb orQflQi ~QJ®mLIU QJ®L 

C:8'uSlLit.i ('!!)· 600 ~8i@®JBi!ilTQJ.~QJiflQ,r LDIT!!i QJ®LDITQJTLD 6rQJQJ6TTQj? • 

(A) ®· 200 

(C) ®· 300 

29 

(B) ®· 250 

(D) ®· 600 
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• 
77. A sum of money at simple interest amounts to Rs. 815 in 3 years and to Rs. 854 in 4 years. 

Find the sum 

(A) Rs. 650 

; Rs.698 

(B) Rs. 690 

(D) Rs. 700 

til<!!i Gl!firrQla;, !fiailan:.iq.uSlw 3 4~@a;sflw ®· 815 4a;Q.Jtb 4 4~@a;sflw ®· 854 8i>.@!fiwrr.$1lD~· 
.!11ii;Gl!fi1TQl5Ql u.i B; a;rr~ a; 

(A) ®· 650 

(C) ®· 698 

(B) ®· 690 

(D) ®· 700 

78. The capacity of a tank of dimension (8 m x 6 m x 2.5 m) is 

""" 120000 liter (B) 100000 liter 

(C) 50000 liter (D) 80000 liter 

(8 m x 6 m x 2.5 m) .!l!Qljl)&Sr Qa;rr~L a;wQ\!Qi Qa;rrarsrmQJ 

(A) 120000 '151L..Lrr 

(C) 50000 '151L..Lrr 

79. Find the value of ~77 - ~150 + ~366 -../25 

(A) 13 

(C) 19 

tni®uyB; a;rr~a;: ~77-~150+~366-../25 
(A) 13 

(C) 19 

80. If 235 = 38 and 452 = 45 then 345 = ? 

(A) 49 

(C) 72 

235 = 38 lDJDl!Jlt.O 452 = 45 61'aiiru 345 = ? 

(A) 49 

(C) 72 · 
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(B) 100000 '1SJLLrr 

(D) 80000 '1SJLLrr 

(B) 16 

~8 

(B) 16 

(D) 8 

(B) 66 

""" 50 

. (B) 66 

(D) 50 



• 
81. If A:B=3:4 and B:C=8:9 then A:C is 

(A) 1:3 (B) 3:2 

• ~ 2 : 3 (D) 1 : 2 

A: B = 3: 4 tnJi>llJILi> B: C = 8: 9 orQ\lru A: C 6Tmu191 

(A) 1 : 3 (B) 3 : 2 • 
(C) 2 : 3 (D) 1 : 2 

82. For what value of radius of a sphere, the volume of the sphere is numerically equal to the 
surfaee area of the sphere 

(A) 1 (B) 2 

·" 3 (D) .4 

~® C:a;rrar~~m 411~m 6TLDLD~LiLJ5®, C5rrar~m Qa;rrarararQJ 6TmQ!m'arQ51Qi ~ii;m LJJDLiul)'Ut.SlJi>® 
lfLDLi> 

(A) 1 

(C) 3 

83. What is special about this organisations? 

(B) 2 

(D) 4 

British India Association, Poona Sarvajanak Sabha and India League 

(A) Founded by AO. Hume 

ml,,. Fore runners of the Indian National Congress r 
(C) B.ritish organisations 

(D) Revolutionary organisations 

£wli;a;mL lfii.Ja;ii.Ja;mlmLC:u.J 51TQ!m'ULI@Li> bljDUULDlfLD 6TmEll? 

~iflL_tq.&i!j.@Ji;~UJ lfii.J.$Li>, ~QllT 1frrQJ81E1161f61lU LDJD!lJILD@ji;~UJ '6.$ 

(A) AO. '1!614Li> Cii;rrJi>llJl'61HmQJ 

(B) @Ji;~UJ ~UJ a;rrii.J.$111.flm QP~rriq.a;Gir 

(C) """ii.J.$lCroUJ lfii.Ja;ii.Ja;Gir 

(D) Ljl)'L.fl51)' lfii.J5ii.J5Qr 

84. · The total number of all possible squares in a chess board is · 

(A) 8 (B) 64 

(C) 512 Jll'f'204 

~® 6i9J'1ii.ia; umma;uSlru 11_Gifar 6Tmmrr '6lii;tnrrEll 1f191'1ii.ia;mlm 6Tml0illfl5ma; 

(A) 8. (B) 64 

(C) 512 (D) 204 
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• 
85. What is the least number of square marbles required for a terrace of 15.17 ~ long and 

9.02 m breadth? 

(A) 1242 

~814 

(B) 407 

(D) 1000 

• 

15.17 m ~erQPLil 9.02 m ~a;QJ(!Ptb 1LmL1U Vl® Bhmr,r.gQir C:tn!i>ur.rCn5lru u~8;a;lii C:i!imruuu@Lil · 

®m!DJi;i!iul...8' 61"arQlafi8;m8;.gQJrrm "'~IT ruiq.ru u.nlrfu®8;a;!Da;6ir 6rliii!imm? 

(A) 1242 

(C) 814 

(B) 407 

(D) 1000 

86. The L.C.M of two numbers is 48. The numbers are in the ratio 2 : 3 the sum of the 

87. 

numbers is 

(A) 35 iJff" 40 

(C) 60 (D) 111 

@® 61"ara;61!l6in L.0.61.LD 48. @Ei.i661® 6rli<ra;61!l6in 661£ll!irfua;6ir <!Pmw<:IU 2 : 3 61"60l1ru ~Ei.i661® 61"ara;61!l6in 

Bh@l!iru 

(A) 35 (B) 40 

(C) 60 (D) 111 

The L.C.M of 148 and 185 is 

(A) 690 (B) 760 

"" 740 (D) 1010 

148, 185 61"6in!D 61"ara;.nl6in ID8'Hl!!J Gurr~ LDLrfu@i 

(A) 690 (B) 760 

(C) 740 (D) 1010 
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~- What will be the simple interest earned on an amount of Rs. 16,800 in 9 months at the rate 

of6'1.1% p.a.? 

(A) Rs. 697.75 

(C) Rs. 567.30 

(A) ®· 697. 7 5 

(C) ®· 567.30 

Jll'l"'Rs. 787.50 

(D) Rs. 897.60 

(B) ®· 787.50 

(D) ®· 897.60 

89. Double jeopardy is related to which Article of the Indian Constitution? 

(A) Art. 21(1) 

(C) Art. 32(1) 

(A) 661~ 21(1) 

(C) 661~ 32(1) 

, Art.20(2) 

(D) Art. 226(2). 

(B) 661~ 20(2) 

(D) 661~ 226(2) 

90. To suggest methods of change in recruitment, the UPSC appointed in 1974, a Committee of 

Recruitment and selection methods under the Chairmanship of 

(A) G.D. Khosla 

(C) R.C. Lahoti 

(B) J.C. Shah 

j/lf' D.S. Kothari 

~L.G1Firuq QProwuSlru LDrt!DwL.O 'l!Du@:$191eup;!Ds;rrs; vio;MJiihu Gurr191uu61111fl1Urrmir Gp;ireurrm-1UL.b. 197 4 Lb 

~~nq.@ Gp;ir61J LDW!!)ILD ~L.G1Firuq @i@·VlQil!JI 1Urrir p;mrumLDuSl@ ~..,LD~p;191? 

(A) G.D. Gs;rrlfQJrr 

(C) R.C. ruG~rriq. 
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(B) J.C. Q!flT 
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91. Match the following Commissions and their purpose and give correct answer by selectin-t 
the options given below : . 

Commission Purpose 

(a) Kalelkar Commission 1. Ga~dhi Murder case 

(b) Kapur Commission 2. Centre-State relations 

(c) Sarkaria Commission 3. 1984, Anti-Sikh riots 

(d) Nanavathi Commission 4. Backward Class Colllmission 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 4 1 3 

lfill'4 1 2 3 
(D) 3 4 2 1 

4a>ll!ITUJLD C:p;rr55ili 

(a) a;<:mroa;rr 4 mll!ITUJc0 1. a;rrJi;i@ Qa;rrmro QJ 195e 

(b) li!Jrr 4a>ll!ITUJLD 2. Ul;,fj.UJ-Ulrr,djlro,L!D61J5Sr 

(c) !Frra;rri!lUJrr 4mllllTUJc0 3. 1984. 1551UJ '"i!ilrru4 a;roQJ11c0 . 

(d) p;rrp;rrQJfj. 4mllllTUJLD 4. tS16inji;ri.i.$lUJ 6\J@iutSlQl!rr 4alllllTUJLD 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 4 1 3 

(C) 4 1 2 3 
(D) 3 4 2 1 

92. The legal advisor to the state government is 

(A) Attorney General 

; AdvocJlte General 

(C) Auditor General 

(D) Comptroller and Auditor General 

lllrr,djlro ~11~6in IFLL 4C:rorrnrr UJrrrr? 

(A) ~ L.Llfail Q51Q1111ro 

(B) lllrr,djlro~Qsi j!;a>romlll 6\J!,l!MJ6l1€!irr 

( C) 411\-LLIT Q51Q1Tl)"QJ 

(D) a;c0L.C:11rrsrrr lllWJ!llLD 411\-LLIT Q51Q111)"QJ 
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• 93. The provisions relating to citizenship are embodied m the ---- of the Indian 
. constitution. · 

Jllf" Articles 5 to 11 in part II 

(B) Articles 6 to 11 in part II 

(C) Articles 14 to 21 in part II 

(D) Articles 5 to 21 in part II 

@i"l-llfiflQlLDQ'lUJ u!i>J61UJ 6151~ .@,!B~UJ ~i;r61UJQJQllDUL.j lHrfflirp;~<isr 

®rbl ui.Sl7uu L..@mQTQT. 

(A) 6151~ 5 QPlf>Qi 11 QJQlll LI@i~ II 

(B) 6151~ 6 @ll>Qi 11 QJQll/ LI®~ II 

(C) 6151~ 14 QPlf>Qi 21 aJmi;r LI@i~ II 

(D) 6151~ 5 QPlf>Qi 21 QJQ')IJ u@i~ II 

94. The First Article of the Indian constitution declares India as 

(A) Republic 

. Jllf' Union of States 

(A) ®"1-UJlla; 

(C) · LDIT,ffilQJii.Js;Qf\Qir t;i<isrr@UJt.il 

(B). Socialist democracy 

(D) Secular State 

(B) ll'LDif>rrLD LD.!;s;Q'TrrL61 

95. Which article of the Indian constitution declares that "the elections to the House of people 
and to the legislative assembly of every state shall be on the basis of adult suffrage"? 

(A) Article 146 ~Article 326 

• (C) Article 246 (D) Article 126 

LDMQTQ')QJ LDJDl!llLil LDrr,ffilQJ ~i;ra; Cif>li"lf>Qis;m QJUJi9J"'LCUJrrrr QJrrA;®ifl"'LD <!P"'!D (!PQJLil Cif>ir.©Glf>@A;s; 

CaJQlrr@t.il '"~ aJrolllf!!liii9JLil .@Ji;~UJ ~i;r61UJQJQlLDLIL.j 6151~ <>Ti9J? 

(A) 661~ 146 

(C) 661~ 246 
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(B) 61511® 326 

(D) 6151~ 126 
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• 96. Which market is an ideal form of organisation which by providing easy liquidity encourages 

97. 

the public to invest and this brings out the latent surplus in the economy? 

(A) Commodity market 

(B) Money market 

""" 
Stock market 

(D) Exchange market 

Gu1T(!!iQ'TITl51T1T1iiif.JQi orfr,15 lf/I>m15 or'1f115rrm ~rrmLDmUJ ~B;@i6>5lp;191 Gurr191LD411imm Qfll5'3© GlfuJUJ 1911'""'iq. 

LDm!Dfe>l9J6ir61T 12...urrtmUJ Gru'1f1 G11irr-rr$lm!D .!91'1>LDLILJ ? 

(C) uri.J@j lfJi'>m15 

(D) QlfQJIT6Uml LDITJil!OJ lfJi'>m15 

.Who was the Chairman of 1" Finance Commission? 

(A) V. Carnol (B) S. Benjamin 

~ K.C. Neogy (D) H.T. Riyog 

Qfll5Qlrrru191 ~ifl ~m-UJ!i;if,lm 15mQJrurr UJrrrr? 

(A) V. llirrmQi (B) S. GumtJ.lt.6lm 

(C) K. C. ~~UJIT$J (D) · H.T. rrt~UJrr!i; 

98. The term "PMAY" relates to 

(A) Fisheries wJ!'Housing 

(C) "Stock market (D) Diamond market 

"PMA Y" orm!!J Glfrrru orm158; ®!fil4Bill!l19J? 

(A) t.lim 1ftbufr>15uul...L G15rrWJQi 

( C) u riu ® ru rr p;15 ... t.0 
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• 99. Match the following : 

(a) NH7 1. 

(b) NH45 2. 

(c) NH67 3. 

(d) NH209 4. 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 3 1 2 4. 

(C) 3 2 1 4 

~3 4 1 2 

Qurr®lii@ls;: 

(a) NH7 1. 

(b) NH45 2. 

(c) NH67 3. 

(d) NH209 4. 

(a) (b) (c) (d) 

(A) 1 2 3 4 

(B) ·3 1 2 4 

(C) 3 2 1 4 

(D) ·3 4 1 2 

100. 'King of Fibres' is 

Jllll' Cotton 

(B) Jute 

(C) Hemp 

(D) Flax 

)lirrr'ruuuSlirs;IOl!l6iT ~V~ 61'6'Tuu@6U@I 

, LI(!1JUI 

(B) .!fQllTQJ 

(C) yml8'ro6 )lirrir 

(D) )lilTQllTQi 

Tiruchy to Tiruvarur 

Pollachi to Dindigul 

Madurai to Tirunelveli 

Tiruchy to 'Chennai 

~(!liU) - ~(!1)6UIT(!!irT 

Qurr6\r6TTrrUl - ~6iirr@S;s;Qi 

LD@IQ>V - ~®Q)liQiG6U"51 

~®6~ - Q~ro6'T 
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